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(1) FH (g, adR () FROTR () @ ©FR @) (@), 0T
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(c) fushd o (i) T B
(d) =@ TES (iv) o1 7o
Tt Iy

(@ (b) () (d)
(1) (v), @), () (i)
@) (), (@) @), (1)
() (), @) Qv). (i)
@ @), @(v), @) (@)
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14. ‘9 e QU Sew’ A1 apyaRmn 31 | waia e
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16. Identify the correct interrogative sentence/s.
(a} What were you doing at two O’clock ?
(b) When she got married ?
(c) Why didn’t you water the plants ?
Answer options :
(1)  (a) only (2) (@) and () 3 (bjorly (4)  (b) and (0)
17. Choose the option closest in meaning to (he wo.d printed in capitals in the following
sentence :
He REPUDIATED all offers of friendship.
(1) Welcomed (2) Tried (3) Rejected (4) Accepted
18. Upheaval in the country caiie as sudden unexpected events for the government.
Select the most appropiiate idiomatic expression for the underlined words in the above
sentence :
(1) bol* frcm wie blue (2) bolt upright
(3) . Lave shot one’s bolt (4) make a bolt for
19. Choose the wrongly spelt words.
(a) ANOINT (b)) ANAMOLY () ANONYMOS
Answer options :
(1) (a) and (b) only (2) (k) and (c) only
(3) (a) and (©) only (4) (a), (b) and ()
20. Choose the sentence/s containing correct use of prepositions.

(@) The river flowed below a bridge.

(b) The repairs of the roof were completed quickly.

() The car in the garage had a flat battery.

Answer options :

(1) (9 only (2) (b)and () only
(3 () only @ (@ () and (0

AT HIATATS ST /SPACE FOR ROUGH WORK
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21. Match the following :
(a) Deja vu (i)  Final blow (the blow which kills)
(b) Coup de grace (i) To remain doubtful about something
(c) Wet blanket (iti) The feeling of remembering something
(d) Take something with a (iv) A person who prevents others from enjoying
pinch of salt themselves

Answer options :

(@ B (© (4

1) O @ @) (@)
(2 G) () (i) @)

3 @ @ @ @)
@) @) @ (v) (i)

22. Choose the best active voice struciure io: the following sentence :
He was given a merciless thrashiag ot school.
(1) A merciless thrashins was given to him at school.

(2) At school, he vvas givena merciless thrashing,
(3) The thrashing he w#s given at school was merciless.
(4) The teacher gave him a merciless thrashing at school.

23. (a) Never have I seen such a sight.
(b) Newer I have seen such a sight.
ldertify the grammatically correct sentence.
(1)  Only (a) is correct (2) Only (b) is correct

(3) Both (a) and (b) are correct (4) Both (a) and (b) are incorrect

24. Fill in the blank with the correct expression.

She makes about her prejudice against them.
(1) no bones (2) no hands
(3) no fingers (4) none of the above

25. The nurse said to us, “Please wait cutside the room”.
Which of the following indirect narration is correct ?
(a) The nurse told us to wait outside the room.
(b) The nurse requested us to wait outside the room.
(c)  The nurse instructed us to wait outside the room.
(d) The rurse urged us to wait outside the room,
Answer options :

(1) (a) and (b) (2) () and (d) (3) None of these

(4) Al of these

Feell HIAEES AR /SPACE FOR ROUGH WORK
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26. Selfish politicians are troublesome for those who do not toe the line .
Select the most appropriate meaning of the underlined phrase in the above sentence :
(1) go against them (2) join their group
(3) support them (4) act according to their will

27. Select the most appropriate meaning of the underlined expression.
New banking policy was presented to us as a faif accouapli.

(1) best policy (M) faefui

£AN

(3} leaving no option but to accept {{} = decision that can be changed

28. State the meaning of the underlincd phirase in the following sentence :

Environmentalists have noave o grind.

Choose the correct optich :
(1) an axe to be giound (2) to make an axe sharper

(3) touseai ax- to grind (4) have some selfish motive

29. Identi'y adiectives in the following sentences :
(a) Ly father bought a large house.
(b)  Weird noises disturbed us in the night.
(c) It was the ghastly apparition of an old man.
Answer options :
(1) large, weird, ghastly, apparition (2) large, noises, ghastly, apparition
(3) large, weird, ghastly, old (4) none of the above

30. Point out the correct sentences.
(a) There are two rooms. You can select either of them.
(b) There are four rooms. You can select either of them.
(c} There are two rooms. You can select any of them.
(d) There are four rooms. You can select any of them.

Answer options :

(1) (a) and (b) (2) (b)and (c) (3) () and (d) (4) (a) and (d})

THeAT IS W /SPACE FOR ROUGH WORK
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GO FIG [TUH FHR AR ?
(a) TeRTE fauray ufitw 2016 W& I sfehr=a seiead fadas 9 Fo.

(b) I fadae Gl TRIEIS! SIdtd SIRA 7 98 Hiemd e T 5 SEmdd 58 AU Qe
Frn T R oMk,

() vIRAK Frfseh AfgshrEEd fabas TR & ok Tedle ¥ Ut 19 31 k.
Tafdt I :

1) (@ @ ®

¥ © (4) w{orH U TR

Which of the follovring s‘atement is false ?

(a) Maharachiire Assembly passes prohibition of Social Boycott Bill in April 2016.

(b) An ollence under the bill shall fetch a maximum punishment of seven years
‘mp.isonment or fine up to ¥ 5 lakh or both.

() Maharashtra has became the first state in India to pass a bill on Social Boycott.
Answer options :

1) @ 2 [®)

3y (o) (4) None of the above

AT WeEte gaia Hidh Higardt SSRYS HIS AR ?
(1) e (2) RE 3) & (4) TS
Where is the biggest market of Onions in Asia Continent ?

(1) Delhi {2) Nasik (3) Mumbai {4) Lasalgaon

THeeAT HTHTETST W /SPACE FOR ROUGH WORK
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33. Wl TR T QU ShEEETEs Wete faum faem o
(a) W wEEl (3FEN) ot ¥ 58 A 2017 A9 R G i
(b) wfeer FwHA 3 26 T TR o fHesvam o swde
(c) HETE FEHHHR 26 ITSaSI=a TR T AUFHR s Tiaed < SISy a7,
(d) TR FEe U AfEey <GS 26 AT TRl Toa T <6l i 9 afe T
Ml S8 TS B 3Te.
FPYH! BV FIUTT SHIeR 37 ?
(1) (@), {) (© @ ®) © 9 (3)  (b) Wi (d) 4 @) (), () (d)
Consider the following statement. avuc. a law that allows paid maternity leave :
(a) The Maternity Benefit (:\mendment) Bill was passed by Parliament in March, 2017.
(b) Women employens viill 1 ow be able to get paid maternity leave of 26 weeks.
(c) The entitlement of 2¢ weeks paid leave under the law is only for first two children.
(d) The law alco allows paid maternity leave of 26 weeks for a women who adopts a
child belcwe the age of three months.
Which of the statements given above are correct ?
(M @O © (2) () ©. (d (3) (b) and (d) 4 (@ ®) (. ()
34. 15 FgER, 2017 TS IRGH THTE FHUFTEN 104 ITHE TV e AFTOR FoOhT Fem 318,

= S weetE wvR faus adET T ?

(1) 38 9 104 IR THE ARFE Fgart 2017 949 0,08 U@, g 9890 F,
(2) THTHTSE. 374 IFA .

(3) TET 104 TR 101 IR & T A,

(4) UHU 104 SURIAH! 96 SWIE B Fdes STHIFT Bl

On February 15, 2017 India set a World record by launching 104 satellites from a single
rocket. Which one of the following statements about it is not correct ?

(1)  ISRO launches 104 satellites in a single mission in February 2017 by Polar Satellite
Launch Vehicle.

(2) It was PSLV’s 37" flight.
(3)  Out of the total 104 satellites 101 belonged to the Foreign countries.
(4) Out of the total 104 satellites 96 belonged to US only.

Heedl RIS IR /SPACE FOR ROUGH WORK
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35. w2017 9 WRATEN Tl 3 Aeand wieie Yo AiEeT TeR S g
(a) “few AfEH G) T
(b) e H= @ =
() ifew faa Ssh (i) &
@) “fesffen=s  (v) 759
A e o
@ B (© (@

) i) ) O @
@ @ @ ® O

) @) @ 0 @)
@ @ 6 @
Int April 2017, the v.omer. Chief Justice were in the various High Courts of India :
(a) Justice Fohini (i} Kolkata
(b) Justico i njula (i) Delhi
(c) lustice Indira Banerjee (i) Bombay
(&) Justice Nishita Mahatro {iv) Madras
Maich the pair :

@@ () () (d)

1 @ & O o
@) @ @@ @) @
(3 @) @ @ @)
@ (@ @ @ )

36, % WHR 9 TCHT WHER AR SN qunergyl ofiferd fEim we,
(1) 1971 (2) 1967 (3) 1965 (4) 1970
From year there has been a situation of tension between the Central
Government and the State Government.
(1) 1971 (2) 1967 (3) 1965 (4) 1970

Hoedl SIS WA /SPACE FOR ROUGH WORK P.T.O
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37. E@a&aﬁmmmmﬁﬁawmaﬁmmaﬂﬁmﬁmw
weamed faypret Fvam e ?
(1) 895 mEIgewd, 2002 (2) 8951 HEAGES, 2003
(3) 88t WeAGERN, 2002 (4) 88 =EAgEE, 2003
By which Amendment, the National Commission fo: Scheauled Castes and Scheduled
Tribes bifurcated into two bodies ?
(1) 89t Amendment, 2002 (z, 89" Amendment, 2003
(3) 88t Amendment, 2002 (4) 88" Amendment, 2003
38. W faum foaamm = .

(a) HE DR AR Ay 9 TR TR Tt .
(b) HEA FE A FA AN T TIE e HROTTE YRy TEd% T8 vehdi.

(c) <hall Pyl TENT=N T FRiE 5 a8 fHar 62 b & omft sie @ fauifa Sdon
3T

oS! e/ four /3 atrET sne/a?
(1) HHT (a) (@) (a) =T (b) (3) W () (4)  (b) & (c)
Consider the following statements :

(a) The Chairman and the members of the Union Public Service Commission are
appointed by the President.

(b} The Chairman and the members of the Union Public Service Commission shall be
removed from his office by the Prime Minister on the ground of misbehaviour.

(c) The members of Union Public Service Commission shall hold a term of five years or
until he attains the age of 62 years whichever is earlier.

Which of the statement/s given above is/are correct ?

(1) Only (a) (2)  (a) and (b) (3) Only (o) (4) (b)and (¢)

oAl FHEE AR /SPACE FOR ROUGH WORK
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39. GOEIH! UM foue drg o ?

(1)

(2)

(3)

(4)

TSI g sTrgea aRTet aeet ey (SRR, dafire, seresw st aia)
HiffTaers 37

e g v freeu AgFare! WA 31 FER FReR] #0aeR §6] HIaee!
R,

T faes egs anfor gae 3= fTe v e i 99 Sifer oA,

T&A et armi 370 @ 39 e sge 91 a1 TEdH 9 SRR gared
AT A @ [E %S 4 ©F Tgai USHq S ad.

Which one of the rollowing statements is correct ?

(1)

(2)

(3)

(4)

Lne Constitution has prescribed the qualifications (legal, educational, administrative
or judicial) for the post of Election Commissioner.

The Constitution has debarred the retiring Election Commissioners from any further
appointment by the government.

The Chief Election Commissioner and two other Election Commissioners have equal
powers.

The Chief Election Commissioner and two other Election Commissioners cannot be

removed from office except in same manner and on the same grounds as a judge of
the Supreme Court.

HEAT HWEE T /SPACE FOR ROUGH WORK
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AR P faum atET one ?
(a) dawurEfEa i@ g 9 SHeH TEY Hew Y e SaRTIsT S
U &Y.

(b) EEATHF TEHER GaUHEET WSl THydd H3it SfHRRTR ane Fde.
() Y9HM weER frgea Svarn 9t < el HOes T ST St TR,
it 6

1) (a) 25 W

3 © (a) U= TFE T

Which one of the following staiaments is correct ?

(a) The total numhber of Min sters, including the Prime Minister, in the Council of Ministers
shall not exczed {iiteen percent of the total number of members of the Parliament.

(b)  As per prcvision of the Constitution, the Ministers shall hold office during the pleasure
of the I'rimi= Minister.

(c) ltisrnocessary that at the time of appointment as Prime Minister, a person must be a
n nber of Parliament.

Answer options :

1) (3 ) (®)
& () (4) None of the above

41.

BepTeqars) TR T IEiA fFeed Taud WISeuw! e HieERE s g erdt ?
(1) W& (2) GHa

(3) You TER (4) dfespd wrd

From which one of the following monthlies did Lokhitwadi Gopal Hari Deshmukh publish
his “Shat Patre” ?

(1) Prabhakar (2) Samta
(3) Sulabh Samachar (4) Bahishkrit Bharat

FHoAT HHEE T /SPACE FOR ROUGH WORK
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42, WEY IS %vE Fd A W FON TG dei FEFEH T Y

(a) fre=pm %H w3 (b) Hieen faendis

(c) 3TIY SR (@) faven feEnss qsh
it I

1) @ () (@) ) (2) @) () @), b

@) (@ () @), b) 1 (d), (@), (©), ()

Arrange the following Institutions cstablished by Maharshi Dhondo Keshav Karve in
chronological order :

(@) Nishkam Karta Mah (b) Women's University

() Female Child Crphanage (d) Vidhava Vivahottejak Mandali
Answer opiiins :

(1) (& (c) (d), (b) 2y (). (o). (a), (b)

3) () (a) @) ®) 4 (d). @, (o). ®)

43. ' ofzd 3 w1 W @l fofeen ?
(1) WA AEW< G@H (2) . "eme et S
(3) Hiow aegE FM S (4) = SEERE SEsEH
Who wrote the book “Thoughts on Pakistan” ?

(1) Sir Syed Ahmad Khan (2) Br. Muhammad Ali Jinnah

(3) Maulana Abdul Karim Azad (4) Dr. Babasaheb Ambedkar

oHeRAT SHIHTETS! S /SPACE FOR ROUGH WORK PT.0
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44. 1935 = FEAMS [ous] HI0ET qIaT STHOR ST e ?
() RTHES &
(b) Y HEwH
(c) Frrire fozw TR

(d) widE @

qgiEt 39
(1) (a) v (2)  (b) =AM (c) T
(3) (a), (b) MW (c) ®= (4) (d) Hd

Which of the folloying prowisions of the Act of 1935 were not implemented ?
(a) India council vwas put to be ended

(b) Indiat Fedecation

(c) Dvarcly at the centre

(d) Trovincial Autonomy

Answer options :

(1) (a) only (2)  (b) and (c) only

(3)  (a). (b) and (c) only (4) (d)only

45. T SaUa Gogid! GoIsiye QHSTE] T9A1 FH FH 2
(1) 8 9<R, 1873 (2) 10 R, 1873
(3) 14 <, 1873 4) 15 AT, 1873
When did Mahatma Jyotirao Phule establish “Satyashodhak Samaj” ?

(1) 8% Sep, 1873 (2) 10% Oct, 1873

(3) 14t Sep, 1873 (4) 15 Aug, 1873

AT THMERH AFT /SPACE FOR ROUGH WORK
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46. T foegq & ST e i IR wITe " ?

(1) FoieEr S (2) fotegmw ™

@) e = (4) eHEzE™

Who was called “Dirty Nigro” by Sir William Lee Warner ?

(1) Kunjabihari Bose (2) Virendre <uniar Ghosh
(3) Aravindo Ghosh (4) Hemchaidra Das

47. 1852 9% Siw STATEUSFEl T ol e ¢

(1) @) i g

(3) Tl RS SdagH (4) ATy v TS

Who established “Bounba 7 Arsociation” in 1852 ?

(1) Mahatma Phule (2) Ganesh Vasudev Joshi

(3) Dr. Babasaheh Ambedkar (4) Jagannath Shankar Seth
48. ‘9o AT U=y s’ € 9l i1 T HeAl.

(1) e v (2) TeoRE St

(3) HehaR @ (4) e gEER

The Organisation ‘The National Council of Women in India’ was established by

(1) - Kanuben Mehta (2) Sarfadevi Chaudhurani

(3) Meharibai Tata {4) Tapibai Hardikar

49. HaE A9 1890 YE TIRON FIRIR FeeAT 07 T Het ?
(1) 9IS IE B8 (2) wERHE F
(3) ARE HE SEe (4) TH.UH. e
In 1890 who established Mill Worker’s Organization in Bombay ?

{1) Bhau Daji Lad (2) Mahatma Phule
(3) Narayan Meghaji Lokhande (4) SM. Joshi

HeeAl HEAS A /SPACE FOR ROUGH WORK P.T.O
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50. 1907 7% 9RE A9 9o T I el &g <8 ooy fien weg @ e
(1) dIg HeRd a9e (2) Tomaes IR GAE
(3) STErRE TEE (4) T TR
While he was in Paris in 1907 and his associites Hemchandra Das and Mirza
Abbas learnt the latest technique of bomb manufactuiing from a Russian revolutionary.
(1) Pandurang Mahadeo Bapat (2) Virayak -Damodar Savarkar
(3) Abasaheb Ramchandra (4) 3hai Paramananda
51. WA g faWm (IMD) =0 " #(@7 TIFSanraR, Jela, Hiengy, T ST Trmg a1
fommlt ot _ TG G ST
(1) 7.0 99 ufd &3 den 341 3o (2y 7.1 7 83 WH gfa it a1 T0=m sa
(3) HREN YATE <1 Hd V. (4) 9.8 a9 Hfq fe7 Yan s s
According to long term IMD (Indian Metecrological Department) data, mean number of
hours of bright sunshine per day over Jalgaon, Solapur, Parbhani and Nagpur is
(1} « less wian 7.0 hours per day (2) between 7.1 to 8.3 hours per day
(3} came over these cities (4) more than 9.8 hours per day
52. HERSETEAT Hie HREE < saiid WOaaHh! HIvR Sel Sehlal 37 7

(1) dw=EE - SOHEE IEe

(2) IESEM - AR, TR S SR e

@) THIW - TEs T

(4) FEEE - TESNE Shedl

About natural boundaries of Maharashtra which one of the following pair is wrong ?
(1) To the northeast (NE) - Darkesa hills

(2} To the northwest (NW) - Satmala, Galana and Akrani hills

(3) To the southwest (SW) - Terekhol River

(4) To the southeast (SE) - Gavilgad hills

=T HIHTATS! ST /SPACE FOR ROUGH WORK
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53. TRERTSWLE, SEEOT T & SHAM Al TRARasiat H-HHH ST, T I T g
Jauar e

(1) feem-vd afor e ge 3T (2) -3 onftT wewm O 3= T
(3) egw-IHW A Sy I AW (4)  IA-SfeW W A gHS A

QOver Maharashtra, the atmospheric pressure during January is uniform along the coast,
over the rest of the state, pressure gradientis

(1) West-East and is very weak (2) South-Ncrth and is moderate to high
(3) South-North and is very high (4) Morth-South and is very weak

S S e

54. TENTRRI® TamH faam 3 i) i we e 9@ i Sirew o

zamr faumn e wrefirer
(a) afaghesn Tedg wew (i) =
(b) T WRAAIe FEFET T T () e
(c) T fagui™n T &m L S qEmrEn faem (i) TR
(d) RS A [T Gv) AR
it 39

(@ by (e} (d)
(M Gvy @) @ @)
2l @) () (i)
(3) @) vy @) @
@) @ ) @@ )
Match the pairs of climatic region and its local regional names of Maharashtra ;

Climatic region Local regional name
(a) Extreme high rainfall mountainous region (i) Desh
(b) Tapi basin transitional region () Zadi
(c) East Vidarbha medium to high rainfall region (ili} Sahyadri
(d) Dry climatic region {(iv) Khandesh

Answer options :

@ () (a4 (d

1) v} @) @
(2) G) @ (v) (i)
(3) (i) Gv) (@) @
4) O @ @ ()
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55. WO HIUH FETE VR T -0 WA aEo| 3d ?

(a) HHUEE!, RS, [ED (b) @, qul,
(© Yo w@E (@) e, SR, qe
FaetF! wivE faum/faun aer sm/a?

(1) (a) K ) (a) 3 (o) Tk
3) (a), (b) nfUr (d) wa (4)  (b). () 3N () F

Which of the following important cities are iacafea in the Tapi-Purna basin ?
(a) Amravati, Akola, Bhusawal () Buldhana, Vardha, Jalgaon

(c) Dhule, Jalgaon (<} Bhandara, Amravati, Dhule
Which of the statement/s given above is/are correct ?

(1) (a) only (2) (a) and (c) only

(3) (@), (b) and (d) caly (4) (b)) and (d) only

56. QTS SMUT Frepgmed e wedtdl it foilas owd. € uedh =

(a) ~TeFel fAfdet (b) Ft=n fospirE sreE
(c) WY G (d) fael s ferd
FeNF! FIR faum/ faum ster 3R/ 31 ?

(1)  (a) 30 (b) F (2) (a) 3T () H

(3) (a) AT (d) Tl (4) (a) (b) 30fo (d) Fe

In a country’s economic development, the role of economic factors is decisive. These

factors are _

(a) Capital formation (b) Marketable Surplus of Agriculture
{c) Human resource (d) Condition of foreign trade

Which of the statement(s) given above is/are correct ?

(1) (a) and (b) only ) (a) and (c) only

(3) (a) and (d) only (4) (@), (b) and (d) only
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57. YNAW EY WEET SE6eHsE T U2 80 Jooe! Jud, o0 o Afeden R
(2004-05) ot farct % oM ?
(1) 28 TFk (2) 39 THH (3) 49 T (4) 55 TFk

Though there has been decline in proportion of population below poverty line in India;
still according to recent available data (2004-05), it is around :

(1) 28 percent (2) 39 percent (3) 49 pricent (4) 55 percent

58. fomm T &9 95 sAquaEEel THiaHE H3@ g€ hocd Hiee fham weeier
RES 8 _ QST W SR,
(1) dFEaws Hicdies qel
(2) <rEAEs IUNAT UTHIO ST 4o
(3) ST AN 3I7a 8 T A
(4) dEge TN g9

The Mahila Kisan Sashaktikaran Pariyojana launched by the Ministry of Rural
Development as « part of aims to empower women in agriculture.

(1) Deen Dayal Antyodaya Yojana

(2) Deen Tayal Upadhyaya Grameen Kaushalya Yojana
(3) * L een Dayal Upadhyaya Unnat Krishi Shiksha Yojana
(4)  Deen Dayal Sparsh Yojana

59. It FATHER TR TSt FE
(1) =% st daid fefaze dommha @ a fekt =
(2) e Tt Fwo
(3) T TG A F
(4) FONF FUR &
E-Commerce in agriculture refers to :

(1) buying and selling of goods and services through digital communication
(2) export of commodities
(3) trade of electronic goods

(4) none of the above
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60. IEH IRYSHE] ARTERIEE e Foedl e 1 6EH W WHe qEisl a=TEg 6 ;
(a) 3T AESE® ARG HUHSY FAW HI0
(b) SREETEE SiaEy Hgd
(c) SMaurEry Taefwman a:H Sieieraeen gt w0
Tt o faur /T T SRR ?
(1) () M (b) B (2)  (b) ST () B (3) (a) MW c) T (4)  (a), (b) 3V (c)
Under Uruguay Round, all member netions of GATT participating in negotiations
committed on :
(a) reduction in tariffs
(b) removal of quantitative restiictions
(c) opening of their economics to international competition
Which of the above statemonl(s) is/are correct ?
(1) (@) and (b) oniy (7 (b)and (only (3) (a)and () only (4) (a), (b) and (c)
61. WRA T3 T4 RIS 2017 TR, RO STO6! Gaiitd TFhar] THes 9 $3 ?
(1) meAuew (2) fogTs
(3) g (4) TENES YA
According to Indian State of Forest Report 2017, which state has the highest percentage
of forest cover ?
(1) Madhya Pradesh (2) Mizoram
(3) Lakshadweep {(4) Arunachal Pradesh
62. WA e AT ST It Forest F4%H (IADP) JRave 357 @ie e T30
FIEN FT0AT 3T,
(1) 1960 (2) 1971 (3) 1963 (4) 1969
Intheyear _ Intensive Agril. District Programme was initiated in India through
comprehensive Agril. Experiment.
(1) 1960 (2) 1971 (3) 1963 (4) 1969
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63. YagA TaE o weriesl, Eeiotst HI0N sector AYT IBHET HlBHE] TIS &
2011-12 7 waia s frafa 8 (qearmsd) 2
(1) &9 3 9o SRA 2) e sa
(3) %<3 I@e T @il (4) TR IR
As far as export of India are concerned, which of the following sector has maximum
share of exports in recent years i.e. till 2011-12 in value ferr: ?
(1) Agriculture and allied products (2) Manufaciured goods
(3) Ores and minerals (4) Other proaucts
64. UM Wrdle ST o it s A« @t YRd SR 81 e
‘T T v e fave FwEifea 0
(1) 1972 (2) 1975 (3) 1978 (4) 1986
In order to overcome the problem of unsafe drinking water in rural areas, the Government
of India launched the ‘Natisnal T iinking Water’ mission in the year .
(1) 1972 2) 1975 (3) 1978 (4) 1986
65. WNAMS 9fed a7 Soit die _ 9 3y N g SRS IE $0,
(1) = T3l (2) Toram e (3) S I (4) I T3l
India’s first Pobotc Dairy Plant was opened by for milk and milk products.
(1) Motker Dairy (2) Kisan Dairy (3) Amul Dairy (4) Aarey Dairy
66. S 7 T eI, WIOTGUH! HIUT AR ?

(a) ITC9 F=ArEl WHR H0

(b) HSW WHESE F faaia o

(c) INSH Hewdl FeT H

(d) 7o9 FEOTER st QW (Biean whAd)

hIVTH! ST/ STe SRIET 31/ d 7

(1) (a) ®ad (2) (b) %=

(3) () 3nfo (d) wer (4)  (a) onfO1 (d) Fea
Self Help Groups of Micro-finance have sole purpose of :

(a) mobilization of small savings

(b)  disbursement of huge credit amounts for various purposes
{c) disbursement of inputs

(d) disbursement of small amounts of credit
Which statement/s is/are correct ?

(1) (a) only (2)  (b)only
(3)  {¢) and (d) only (4)  (a) and (d) only
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67.

24 A
o yfdeurcds =R ygdt g eE e O o el
(1) 1969 (2) 1991 3) 1995 (4) 2003

In order to control monopolistic and restrictive trade policies of large business houses, the
Government of India adopted "Monopolies and Restrictive Trade Policies (MRTP) Act’
in

(1) 1969 | 2) 1991 3) 195 (4) 2003

68. et T HROT Sfufvetd FOM AL T « SUATS Ui 9 ST | )
(1) 1995 (2) 1998 (3) 2003 4) 2007

Maharashtra was one of the fire' states in India to enact its first Information Technology
Policy released in the year ___ .

1) 1995 (2) 1993 (3) 2003 (4) 2007

69.

HALTT WAL CSieoden] B S Idogd Tvad @l Sae [Hefarame e
R ?

(1) UNC (2) WHO (3) IRRI (4) FAO

At Internatonal level, to obtain sustainable production from agriculture, which of the
following organisation is working ?

1y UINO (2 WHO (3) [IRRI (4) FAO

70.

HIES TFHE URIHIS T Fee HIYT IEH RS W TRH0 Ll el
T8 FEUEm.

(1) =™ (2) W (3) wIE (4) wRIEH
File Transfer Protocol (FTP) is an internet tool. The FTP sites are often called as
(1) channels (2) archives (3) groups (4) domains

71,

€l ®).UH. TEH 9 T, fe@es W 7 Tmifeg AefaeiAt fAfvaa o afgy = 9HER,
T Hfgra wrra F37 gia fadl fodt ok diet e wiEs.

(1) 2250 sers 3= (2) 2650 FSSH =

(3) 2850 HeHIS HF= (4) 3000 &S F=

Well known Economist Viz; Dr. V.M. Dandekar and Dr. Nilakantha Rath had defined
poverty line where individual should get minimum of Calories of diet per day.

(1) 2250 Calories of diet (2) 2650 Calories of diet
(3) 2850 Calories of diet (4) 3000 Calories of diet
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72. THBIS! SR BT TUEATe! IV, HSE W W @RS TR ?
(a) TEECH @ 9 freFAmas aien Ve ot arHes
(b) Trmior B e Sar[= Tam fides Teams
(c) TREFIMA Ji™ waste By-products T THHE Breearges B0M gfa it
(d) = wd
g gy et
1 (@) (2)  (a) snfor(b) (3) (b) 3 (c) @ (@
Which of the following Water Pollution is 120¢t harmful to human beings ?
(a) due to excess use of fertilisers and vesticides in agriculture
(b) due to production and mixing of haizdul micro-organisms in water
(c) due to leaving of industrial chiomical waste By-products in river waters
(d) all of the above
Write the correct opticiis :
1) (@) (2) ~ (a) and {b) (3) (b)and () 4) (@)
73. URA™ GNP %% (& I0) T TIOOTe! v qiammmsd gise o ?
(1) ¥ viEm (2) TFHRALHA
(3} 3 % g 4) =t wd
Gross National Product of India is measured in which of the following form ?
(1) Physical terms (2) Percentage terms
(3) Monetary terms (4) All the above forms
74. & FSTA Tt 'HF 9HA' (Silent Spring) 1 UEHT TR FIZHATIH HTET AT

(1) SrEE (2w

(3) difeaw WA sTEEe (¢4) PR SEEmEE

Rachel Carlson’s book “Silent Spring” documented the adverse effects on the environment
of the indiscriminate use of pesticides which led to a nationwide ban on for
agricultural uses.

(1) DDT (2) Aldrin

(3) Sodium Methane Arsonate (4) Ethylene Dibromide
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75. et AN I O SAEA I e o SeEiEr 9uRY o
(a) T T O BTty THTeHE GIeE
(b) worET gnf-ad faemmE fiee
(c) T o[l T deri= Fel@HHie Taem
(d) e
() TUUR T WSarearadt fohme feerdiantor Freft
it I
(1) (@, b)) @ ®),© d e O O e (4) = wd

Krishonnati Yojana is a new umbrella sctionie in which the following schemes have been
included ?

{(a) Integrated Scheme on Agri-ulture Census and Statistics

(b) Mission for Integrateda De relopment of Horticulture

(c) Investment in Pebontu es of State Land Development Banks

{d) Jal Sinchan

(¢)  Price Stalilizauon Fund for Cereals and Vegetables.

Answer option: :

M) @O @ @ G d© () b),d e  (4) Al the above

76. T ST RN FE1, S SUR SEREE) WIS He SHE g ?

(1) ¥HERS I9-Iema (2) =
(3) WS 4) 9 el
In respect to animal feed, which is a feed energy ?
(1) Marine by-products (2) Potato
(3) Oil Cakes (4) Straw of rice
77. Rl QM T ot amfr . fEriw ot
(1) 84.2% A 6.6% (2) 84% T 4%
(3) 80% 96.5% (4) 88.4% 9 4%
On an average buffalo milk contains water and fat.
(1) 84.2% and 6.6% (2) 84% and 4%
(3) 80% and 6.5% (4) 884% and 4%
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78. WO faYum g AT ST 9

(a) HARMTE Feomd g9 o744
(b) FIE HE SHAAT IS THA.

gaiEr 39T :
(1) (a) N, (b) T 2) (o) W, () T
(3) TR S IR (4) TRIEgE S

Constider the following statements and state accordingly :
(a) There is metamorphosis in fish.
(b) Flat fishes are not born flat.

Answer options :

(1) (a) is correct, (b) is not {2) (b) is correct, (a) is not
(3) Both are correct (4) Both are incorrect

79. M ©9 2011-12 HEY g W SCGATI FHO Tk B,
(y 75 (2) 80 (3) 85 4 90
During 2011-12, percentage of wheat to rice production in India was %.
Iy 7: (2) 80 (3) 85 4 90

80. mwﬂwy@mmmmwﬁm(m)%ﬁwmw
U,
(1) | (2) FW (3) @ (4) O TG AR

An area with a plant community predominantly of trees and other woody vegetation
usually with a closed canopy is called as

(1) Social forest (2) Pasture {3) Forest (4) None of these

81. WHIBUS! HIVE AG (A1) FASHH W= T ?

(1) AT (2) @

(3) TR A (4) FHEN

Among the following which is not the variety of mandarin orange ?
(1) Nagpur Santra (2) Khasi Santra

(3) Sathgudi Santra (4) Coorg Santra

oAl HIHWIS AR /SPACE FOR ROUGH WORK PTO



111 28

82. NUMENE! FHIAHHE TR FOM T .
(1) JAATARAH (2) AH.UE.ARS.

3 wWET (4) LA AR TELA
Agroforestry programmes are promoted by institute.
(1) IARI (2) ICFRE
(3) NDA (4) ICRISAT
83. anfor T Staagd ‘C’ v Wa'fus [ast Fm.
(1) & 3nfor g8 2) & anfor e
(3) e amfur fadt (4, A= A0 HAT
and are richcut source of Vitamin ‘C’.
(1) Guava and Grape (2) Guava and Amlia
(3) Amla and Litchi (4) Amla and Orange
84. TERTET=N AR - == Ta< AREREET 9 & o 4. fat o,
(1) 0.90 (2) 1.12 (3) 1.86 (4) 2.0
The area 1 ear Maharashtra’s sea cost suitable for fishing is lakh sq.km,
(1) ~0.90 (2) 1.12 (3) 1.86 (4) 2.0
85. U H HASHE TS .
1) & (2) ®= (3) TR 4 ™
A is a mature ovary.
(1) Flower (2)  Fruit (3) Pollen (4) Pulp

86. UM TS T IESERET FEHMROIY ST AT ?

(1) =M (2) ¥ @) e (4) 3TN
Which tree is not commonly used in ‘Taungya,” cultivation ?
(1) Teak (2) Sal (3) Eucalyptus (4) Ashoka
87. WA2012-13 T FE IR THT ITHTT I &b 912l Bl
1) 13.4 (2) 136 (3) 13.8 (4) 14.0
During 2012 - 13, the share of Agricultural Sector in total Gross Domestic Product (GDF)
was %.
(1) 13.4 (2) 13.6 (3) 13.8 4) 14.0
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88. ¥ MR W@ Al SR
(1) UEE HIgH (2) HERE FHET
(3) R FE (4) T wisfaamE
Scientific name of banana is .
(1) Pyrus malus (2) Cocos nucifera
(3) Pyrus communis (4) Musa naadisiaca
89. UHIHIN WA STHSTH WUARNS FANTHE @iedi 5 %) Tl Hl A ?
(1) eafEs (2) <& = 0y  wda s (4) e o
Breeding between half brother and sistir is refered as :
(1) Hybrid (2} Oulorecding (3) Close breeding (4) Line breeding
90, 71 S B, FEdN @a A S SrneEe! Sud B,
(1) ot o (2) qeal 3) wF& 4y U
tree is u.o ror timber, green manure and fire wood.
(1) Silver Ok (2) Mulberry (3) Karanj (4) Jackfruit
91. | 2011-12 T, VRareEl W el Sereaman e wia geedt A,
(1) 2272 (2) 2372 (3) 2472 (4) 2572
During 2011-12, rice productivity in India was kg/ha.
(1) 2272 (2) 2372 (3) 2472 (4) 2572
92, TH 2004 W& WEHR! T S0 HEIA THU WHY YaRES T AT B
I 9 (2) 10 3y 11 4 12
During 2004, Co-operatives banks and societies contributed percentage share
in total rural credit.
1y 9 (2) 10 3 1 4 12
93, Y TR WogiaE! faqs yamme 9fd s1eod (Saeuy 40% ) ST 9o @ -

LSS

RICSURE

Which is an excellent high proteinous (40% approximately) feed in ruminants ?

(1) W 98 (2)
3) <Egde (4)
(1} Cotton Seed Cake (2)
(3} Linseed Cake 4)

Castor Cake
Mustard Cake
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94. wfewl fasy waste waffea Fort et & a1 fasfaa wer ok,
(1 i (2) WH o (3) Hudt (4) 3w
hybrid of cabbage is evolved by Mahyco seeds Co. PVT. LTD.
(1) Hari Rani (2) Green Globe (3) Sumati (4) Sudha

95. WIuft TSI HIved1 TGl e ?

(a) SIS (b)  STsTETT (c) = SHsirElT (d) STFesEim
il 39
(1) (a) ®F (20 @™ (3) (a)F(c) (4) (aF(d)

Which are the systems of aiimal | reeding ?
(a) Inbreeding (b)  Cnbreeding (c) Offbreeding (d) Outbreeding
Answer options :

(1) (a) only (2) (a) and (b) (3) (a) and (¢) (4)  (a) and (d)

96. 3714 3V U1 T LR el F T FeNHE Hicdl WHIITER 20 T8 haiel T il

ml\‘,\ T?
(1) SR 9¥EM D (2) SERS TS
(3) EwdHi e 4) FEul gE TS

Dropping of small fruitlets in large number both in Ambia and mrig bahar due to
competition for moisture and nutrients is said to be :

(1) Post setting drop (2) Summer drop
(3) Seasonal fruit drop (4) Preharvest drop
97, T 2011-12 AL RAWIS Teg e __EW.

(1) 879TU@ =1 (2) 909 TWEW T (3) 939 TWeM A (4) 96.9 TEW T

During 2011-12, wheat production in India was
(1} 879 mtonnes (2) 909 mtonnes (3) 939 mtonnes (4) 96.9 m tonnes
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98. @ A e e
(a) Y A HEl g A= A Al
(b) S AW WeRYF I A0 9Z1 [ FR TROTHSRE A9 heT S,
wrefleien A v el
(1) (@) T, b) T ) (b) T, (2) T
(3) e 4) <EEIE
Consider the following two statements :
(a) A large number of bamboo grows outside of turest.
(b) It has been effectively used as wind bieck arid shelter belts.
Select correct option from the following
(1) (a) is correct, (b) is not (<) (b) 1s correct, (a) is not
(3) Both are correct (4) Both are wrong

99, HIFAT WA WAGIH! BT T AHE T ko W 6 2 S d ¥ IS W

(1) 9 951 (2) TFpE USH

(3) W W (4) e e

In which aniiral aitficial insemination is not done though it is possible ?
(1) Pig siecding (2) Poultry breeding

(3) - Coau bdreeding (4) Sheep breeding

100. FERTEM Jgdl Sl Fesel SNTag Ald=l e ol a6 g& s ?

(1) 1985 (2) 1990 (3) 1995 (4) 2000
In Maharashtra Scheme for development of fruit cultivation under EGS was started in
which year ?
(1) 1985 (2) 1990 (3) 1995 (4) 2000
-00o-
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AN — (Y= 1 7671 [&.... )

©®) wEfERs fafeq Soe fafe wris o= F@ (76 56) =E. TRkt et a1
SR FMEER F= FH Hea™ 1 Hi9l FOGT] TH FO TR, I TS TR 9 AN IHEARER
TRAM ST FFoe ' weiTed S R Wi e -2 aete TGN HRaT
FI 93T F Xt KN FAS Th Furedl hiarEr=a e/ fFan w9 o g Wien Teren e
A RS,

(9) TR FEUARTRE M fafeq FSH 9@ Toearat IHEAT  FEYiEEHT W qiet TWTRaEet
TSI A WA AR, U TGaTeR ATTATE STUHTET IWarH STYeaT SRRl WRT- 1
wAgHES T fauar om H HTavas I

AT T|

W 201, HAE 90 TR OGN FU T T 6 7
(1) T EEEE Ol () IvarEs faemmn
@) TS UEEES U (4)  TiTeEHES TiEe

YN A IR () T TR TG SR AR, e W W I (%) €S dnad
WIACHRTS, T w. 201 WiNe S-F0% ()" ¥ age T sraifha w6 qrafad steavas
TR

w2l ) O @ @

ST g TEd YIRS Wl el AT SO-RHE @ TRlel Wi e
Tufrefie @ @ YITRHRERAS Tafia g quiTh @ifea wE4 SEedl.  greRiar
TF FEAT FRY 9w arwd, Ifae a1 vde 9 9 4.
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